CHAPTER 3 - Selected Answers “Evens” 
          p.1
Section 3.1 (p.135)

2. inverse  4. linear  6. not linear - The exponent of ‘x’ is ‘2’. It needs to be ‘1’.  8. 13  

10. 5  12. 8  14. -13  16. (sample answer) M – 4.50 = 7.50  18. $12 – You started with $12.

20. subtract 17  22. add 15  24. add -2  26. 75  28. 3  30. 15  32. -11  34. -24  36. 1  38. -21  40. 
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  44. -5  46. -23  48. -8  50. 0  52. 5 ft  54. C, 22  56. A, -8  58. x+418 =4218, 3800 acres  60. A, $6  62. x + 4 – 6 + 1 – 8 – 3 + 1 – 6 = 0, 17th floor  64. G  66. 
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  70. 21 – 14y  72. -6x – 16  74. 24 – 21x  76. 
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Section 3.2 (p.141)

2. C  4. D  6. 6  8. 
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  10. -100  12. 16  14. 0  16. multiply by 6  18. divide by 
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20. multiply by -3  22. 7  24. -9  26. 
[image: image11.wmf]3

8

  28. 
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  30. 18  32. -16  34. 3  36. 48  38. -10
40. -18  42. -32  44. 14  46. multiply both sides of the equation by 
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, x = 25

48.
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, 540 peanuts 50. A  52. 45 sec 54. B  56. D  58. 7y – 9  60. -2x+20  62. -2y – 30

64. 3  66. -9  68. -11  70. 5  72. 2  74. 17  76. 14  78. 7

Section 3.3 (p.147)

2. 8x & -4x  4. 4x & 2x  6. 8 & -12, -3x & 3x  8. 4  10. 13  12. 6  14. 1  16. 10  18. 4  20. 4  22. 3  24. 4  26. 11  28. 6  30. 3  32. 8  34. 1  36. 2  38. 10  40. did not distribute the 2 over the ‘-3’, x = 
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  42. multiply right-hand side of the equation by 4. Do not divide by 4, x=34.

44. C, 125 people  46. 48 pounds per square inch  48. 2  50. -9  52. -1  54. H  56. x5  58. 52  60. (3x)5  62. 136  64. -22  66. -3  68. >  70. =  72. =  74. =

Section 3.4 (p.154)

2. Yes, the equation is true for all values of x.  4. 3, 8  6. 5, -4, -1  8. 2  10. no solution  

12. one solution, 7  14. one solution, 5  16. 10 pies  18. subtract 2t from both sides  20. add 4x to each side  22. -7  24.1  26. 7  28. 
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  30. 
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  32. -1  34. -4  36. add 3c to 5c = 8c, c =
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38. identity  40. no solution  42. one solution, -3  44. one solution  46. identity  48. 5 sec

50. -6  52. 8  54. A  56. D  58. 56  60. 14  62. 36  64. 5  66. 1  68. -1  70. -19  72. -9  74. 17  76. 45  78. 300  80. 50  82. 2.4  84. 2310  86. 585

Section 3.5 (p.160)

2. addition 4. multiplication 6. true 8. false 10. true 12. -14  14. 50  16. 3  18. 14  20. 9  

22. 16  24. 6  26. 4  28. -2  30. 13  32. -4  34. 1  36. 4  38. (In the 2nd line, right-side of the equation – 2 errors! In distributing the ‘-8’ we should get 8t + 32 – 6, t = 
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40. 20+3n=5n If you use the computer center 10 times, it will cost less to become a member. 42. Studio B 
44. 1  46. -4  48. 4  50. 400, 000 km  52. B  54. -36  56. 40  58. -5h + 7  60. simplified as is

62. already simplified  64. 10.7  66. 3.1  68. 19.88
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p.2
Section 3.6 (p.166)

2. B. This shows that the answer is not exactly 0.46  4. ‘is approximately equal to’ 
6. ‘does not equal’ or ‘is unequal to’  8. 108.2  10. 63.0  12. 0.6  14. -75.1  16. -2.56  

18. 0.10  20. 2.62  22. 8.65  24. 3.29  26. 2.05  28. -1.31  30. -4.36  32. -0.34  34. 0.61  

36. B  38. $395  40. -5.1  42. -0.1  44. n – 2.7, practical answer: 3 buses will be needed since you can’t drive seven-tenths of a bus.  46. C  48. B  50. increase of $85.25  

52. -$234.87  54. -8  56. -0.2  58. -7.5  60. 4.9  62. 
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Section 3.7 (p.174)

2. solve  4. b = c – ax  6. 
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  10. 8 in  12. 
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  24. (1) Subtract b from both sides

(2) Subtract c from both sides  26.  J  28. solution  30. solution  32. solution  34. not  

36. Pro sports  38. 31  40. 
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Section 3.3 (p.180)

2. different  4. unit analysis  6. 
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  10. $.06/tea bag  12. 
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  22. $7/hr  24. $.60/container  26. 55 g/serving  28. 3 books/month  30. ft  32. 5 doz.

34. 24 weeks  36. 300 ft  38. 
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  40. 0.5 mi/min  42. 3004 pesos 44. D  46. B 
[image: image43.jpg]2000 2010 2020 2030 2040 2060%|

uy 19pjo 4o
s1eaA g jdoad jo ioguunpy

Year




  

50. 
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  52. -2.14  54. -2.33  56. 20  58. 30  60. 80  62. 192
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p.3
Section 3.9 (p.186)
2. 160  4. 99 = p(212)  6. 13 = 0.45b  8. 0.6  10. 20  12. $0.60 or 60¢  14. C  16. $262. 50
18. 170.4 miles  20. 64 tons  22. 416  24. 300 miles  26. 150 grams  28. 7.5%  30. 275%

32. 15%  34. 83.3% blue, 16.7% yellow  36. Lincoln 59%, Breckinridge 24%, Bell 13%, Douglas 4%  38. 18%  40. greater than  42. D  44. x + 18 = 45  46. 9  48. -5

50. 1013, 1031, 1103, 1130, 1301  52. 23.25, 23.4 23.45, 23.5, 23.53

Chapter 3 Summary and Review (p.189)
2. -10  4. 27  6. -64  8. -5  10. 10  12. 4  14. no solution  16. identity  18. one solution, -1 

20. 2.33  22. 2.61  24. m = dv  26. 17 mi/gal  28. 25%  

Chapter Test (p.193)

1. 5  2. 23  3. 9  4. 9  5. 7  6. -12  7. -15  8. 8  9. one solution, 
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  10. one solution, -4 

11. identity  12. one solution, 
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  13. one solution, 
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  14. no solution  15. 0.53  16. -2.38 

17. 3.67  18. -0.41  19. 0.64  20. 1.67  21. 
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24. 14 weeks  25. 2220 minutes  26. 45 ft  27. 195  28. $240  29. 20%  30. 90 pounds 

31. C  32. 8 + 3e = 26, e = 6  32. $257 Canadian

Chapter 3 Standardized Test (p.194)

1. D  2. D  3. B  4. C  5. B  6. D  7. C  8. D  9. D  10. D  11. B
Maintaining Skills (p.195)

2. 

	Input r
	0
	2
	4

	Output C
	100
	118
	136


---------------------------------------------------------------------------------------------------------

Chapters 1-3 Cumulative Practice (p.196)

2. 14  4. 30  6. 128  8. 13  10. 15  12. 22  14. solution  16. solution  18. solution  

20. 2x – 4 = 10  22. 
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  24. <  26. <  28. <  30. >  32. -24x  34. -24x2  36. -2x – 7 

38. 6x – 21  40. d = -6t  42. 15(x + 6), 15x + 90  44. 8  46. 15  48. 16  50. -19  52. 
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54. 3.63  56. 1.67  58. 3.33  60. 
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  62. 60 mi/hr 
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